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M ORIMZZ2NSE S 105,000 119,476 N14,476
OABIHBME =& 2124H((3Y) 105,000
= 31,500
Al 73,500
201 ZBt=3hl 9,000 9,000
01 AtR2te|HI 9,000 9,000
OAtl Ml 21400 & E2XIE 6,000
OMIIHBH L= 3,000
AR ED|Y elZet XA 68,570 0 68,570
= 20,570
Al 48,000
402 QI2F X201 & 68,570 0 68,570
= 20,570
Al 48,000
02 QI X2 AL E R (01X THE) 68,570 0 68,570
OAI DY o1Zet XIJALE 68,570




A HEEIED
Ha: XSAM 245t

B9 ASIZ3H =8 =4 (crel: &8
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 20,570
Al 48,000
A2l HEH 24 31,200 13,200 18,000
A2l = Z Al OF2taI 0] 19,000 9,000 10,000
201 L= 19,000 9,000 10,000
01 Ar2eltl 1,000 1,000 0
OAI HB M 2= 1,000
03 A2 18,000 8,000 10,000
OAt2| = ERH OF3taI0| 8,000
OFEAE ARIRIN W= 10,000
AR H BN 243 X 12,200 4,200 8,000
201 L2 9,000 1,000 8,000
01 AtR22te|Hl 8,000 0 8,000
OARI MDY HLH AL M2 8,000
03 A2 1,000 1,000 0
OAlZIZZMDIZ 2tEal & 35
250,000& *42] 1,000
202 044l 2,200 2,200
01 ZLHA LI 2,200 2,200
OS2AY & 2R8It S 1,000
OAt2I XM gdal 24 1,200
301 LeEN= 1,000 1,000
11 SEAAHIXIRES 1,000 1,000
OARIZZ MDY 2tE2l & /TS
250,000 *42] 1,000
Ol Xl & AMTHHNHX XIS 5,694,718 813,815 4,880,903
= 1,744,280
Il 46,900
= 255,160
Al 3,648,378
HEI| el 6,000 8,200 22,200
HEI| 2el 6,000 8,200 A2,200
201 L= 3,000 3,000 0
01 ArR2eltl 3,000 3,000 0
OAHZEI BA 2 =T 3,000
202 044l 3,000 3,000
01 =LA LI 3,000 3,000
OASIIEA & HEERFA 3,000
JIAOHE 2he| 667,524 68,320 599,204
= 22,500
< 14,250
Al 630,774




2A:
PSR
ool

A=)
OUA 25 &
JtAQHE 2he|

AITHAE X X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIAAE QAR EZAFS (EHOIHZ) 25,000 25,000 0
= 7,500
Al 17,500
403 AXIEMSA=01d 25,000 25,000 0
= 7,500
Al 17,500
02 S712S0 U H=E P E AL 25,000 25,000 0
OJAAIE HEEX ES M (EOINS) 25,000
s 7,500
Al 17,500
OFSE?l LPGAENMEYD SS A (XHA) 597,524 3,320 534,204
202 04l 3,320 3,320 0
01 2LHoIHI 3,320 3,320 0
Olt=H? PeAg MY EaMe A 3,320
402 2I2F X201 & 594,204 594,204
03 2IZ+RAETAIS I 594,204 594,204
OO0IS2e?l LPGASME YA 2SS A (XHA)
11,427,000 *52 M CH* 100 2 594,204
LPGEI] ALt AIEHE AN 45,000 20,000 25,000
= 22,500
= 6,750
Al 16,750
403 MR HSAHE01H 45,000 20,000 25,000
= 22,500
= 6,750
Al 16,750
02 SIS0t 2 S A AIEHI 45,000 20,000 25,000
OLPG 81 AFEJH AlEOHE AFY 45,000
= 22,500
< 6,750
Al 16,750
AHEUHA 28 & 88 5,021,194 737,295 4,283,899
= 1,721,780
7l 46,900
S 240,910
Al 3,011,604
HUXIZS s 2 EEXNE A 6,400 6,400 0
== 3,200
Al 3,200
201 2= 4,400 4,400 0
== 2,200
Al 2,200
01 At2teltl 4,400 4,400 0




2A:
T ZH -
o e

=aak

2 Atel Z Xl ot
OIUX 22 & AHHNHX XIS
ATHANUX 25 & 28

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUUNES MBS (F DT L E2A
2) 4,400
= 2,200
Al 2,200
202 04| 2,000 2,000 0
== 1,000
Al 1,000
04 =XI2+01H] 2,000 2,000 0
OXNSHUXNIES nFAIE &K ol 2l 2,000
< 1,000
Al 1,000
AITHAOIL X =EXRALS 297,220 0 297,220
= 59,360
Al 237,860
402 2IZtA=01d 297,220 0 297,220
= 59,360
Al 237,860
02 BIENZASEZ(0IETHR) 297,220 0 297,220
OLTH UK =EAXRAALS 297,220
- EHE2(3KW) 1,240,000& 2317t 286,440
S 55,440
Al 231,000
EHrE (14m) 1,540,000 79t 10,780
= 3,920
Al 6,860
XNEUHX 22 & &8 3,660 3,660
201 et 3| 1,000 1,000
01 At22t2l] 1,000 1,000
O0UX =X 1,000
202 04l 2,660 2,660
01 2LHoIH 2,660 2,660
OA AU N=E 2,660
FAHS HUHKI=SA 71,000 95,000 24,000
) 46,900
Al 24,100
206 M=l 4,000 4,000
01 M=4l 4,000 4,000
OIPtss YEtNEH 4,000
- del=Y Ml 20,0002 =100 CH 2,000
o= W=t 20,0002 *100AI CH 2,000
401 AlEHIZ R0 67,000 95,000 /28,000
Il 46,900
Al 20,100
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M LXtelZ Mzt

33 X 22 & AU X XIS
Sl MMM 22 & 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 67,000 95,000 /28,000
OMASE LD wHMA 67,000
Jl 46,900
Al 20,100
FHAAS 0K ESEHAIE 11,305 11,305 0
s 4,522
Al 6,783
402 2I2FXH=201H 11,305 11,305 0
< 4,522
Al 6,783
03 2IZHRAETALHHI 11,305 11,305 0
OFLASHHXNSEH 11,305
S 4,522
Al 6,783
SAIDA BEAE 629,424 239,510 389,914
= 173,828
Al 455,5%
207 ARl 50,000 0 50,000
01 S| 50,000 0 50,000
g2 ERHEX AL B8 ES 50,000
402 2I2E X201 & 579,424 239,510 339,914
< 173,828
Al 405,5%
02 QI X2 AL EE (01X THE) 579,424 239,510 339,914
OHSFE ZADIA 2iiES 579,424
= 173,828
Al 405,5%
ATHEH UK 2 S (SSE X )AL 4,002,185 0 4,002,185
= 1,721,780
Al 2,280,405
402 2I2F X201 & 4,002,185 0 4,002,185
= 1,721,780
Al 2,280,405
02 QI TH2AILEE (01X THE) 4,002,185 0 4,002,185
OMTHHOIL X S=SEX2A 4,002,185
= 1,721,780
Al 2,280,405
A 2IZHI(L A2 M) 47,500 47,500 0
[=ZHI(L A2 Z A 47,500 47,500 0
JlEZe (LRI Z M) 47,500 47,500 0
201 =3 33,500 33,500 0
01 At22t2lt] 33,500 33,500 0
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2A:

2 Atel Z Xl ot

A #ZYRAZH(LT2IZ M)
el D12 ZHI(LRteIBHD) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odit=3=H| 25,000
O=2| 6,000
OF=d 24| 2,500
202 04 6,500 6,500
01 =LHOLI 6,500 6,500
OgXielZ M =8 0 6,500
203 HR=H] 7,500 7,500
01 J|2=2gedR=a] 3,300 3,300
OJ|2=2gee=a] 3,300
MU A2 LRFAI 4,200 4,200 0
ORANEgg =AY 4,200
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